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%@ diameter of the dot produced by a printer is normally distributed with a mean diameter of 0.0C
standard deviation of 0.002 cm. What is the probability that the diameter is between 0.003 and ﬂ

&@ﬁswer to the nearest two decimals).




ﬁ%nmpﬁs of emissions from three suppliers are classified for conformance to air-quality spacmcntl _
~ results from 100 samples are summarized as follows:
Ii':; Let A denote the event that a sample is from supplier 1, and let B denote the evant that a sample duasb

| annrm to specifications. Events A and B are:

Conforms
Yes NO Total
1 4 -
20 5 25
24 6 30
85 70
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Atensile strength test was performed on 25 specimens of |

sample standard deviation is s 0.25.

O a.247
D.3.47
O c.4.70

Ly 223
O e. 420

ind a 99% upper confidence bound on tensile strength.

Time left 0:34:49

blastic bags. The sample mean is 3.35 and the
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Time left 0:23:03 I

»8 The time between arrivals of cars at a drive-through restaurant is exponentially distributed with a mean of 8
minutes. Suppose that the worker has already been waiting for one hour for a car. What is the probability that

pd one arrives within the next 9 minutes? (Answer to the nearest 4 decimmls).
| out of

| Answer:
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Time left 0:32:27
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i -Thta copper content in an alloy used in home appliances castings is measured in 10 randomly _
i The sample data points are as follows:

| 2011,23.7, 20.9, 25, 27, 24.8, 26.5, 23.8, 95.6, 23.9

Construct a 85% two-sided confidence interval for o (Std Dev).

O a.[2.07, 5.48]
Lo b [19.02, 2.70]

a O c.183,487) i
T R
,J;'iﬂ [1 53, 405] v"r i
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Time left 0:52:2 |
\ The production of a factory is being studied. From the previous history, production is known to be normal[y .
i distributed, and o = 3. The past five days of factory operation have resulted in the following production yiel :}_-._-
92.6, 88.75, 91.8, 90.65, and 90.5. Find @ 905% two-sided confidence interval on the true mean production. =SS
8 N

O a.[88.23 < p=<93.49
=g O b.[8751<p <9277
O c.[85.94 < p <9121

_____
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O d.[86.40 < < 95.16
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%Lﬂprmul dlstnhutmn was used to produce a random sample, and the following confidence interval c:u

X .;e__.-___._._..--‘.'1ng thia sump'ie (44.46,75 54). What is the value of the sample mean?
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Time left 0:27:23 |
n6 Of 1800 randomly selected cases of lung cancer, 650 resulted in death within 10 years. Using the point estimate
of p obtained from the preliminary sample, what sample size is needed to be 95% confident that the errorin

Pe estimating the true value of pis less than 0.03?

[ out of
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. \ quality engineer working on a production line of Solar Cells should decide how many Solar Cells h

- e ted. The wave absorptign rate of solar cells is normally distributed with a mean of 112 and a vari
T pw large must the random sample be if he wants the standard error of the sample average to be
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The chluctlon of solar cells produces 2% of defective cells. Assume the cells are independent and that
cantﬂina 800 cells. Approximate the probability that less than 20 cells are defective. (Answer to tha




	190094900_192928686049172_6350851629073953051_n
	190213945_4385982334759669_8893109662998659686_n
	191092814_388108892553968_3872217091986041466_n
	191507748_213635140580522_6153034183605953307_n
	191613592_1200032053790933_2532159390678246434_n
	192344381_150112807171725_3466170041269521964_n
	193142556_143298854527011_3017198925771776410_n
	193968746_229735841983534_3081631409825966637_n
	194482029_993413311397974_4261831460893482716_n
	195078964_873474350179760_1996829333062521037_n
	196419315_178982017565176_7581141532153735369_n
	198164834_511537573633095_1555223368131735051_n

